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epjpj; jpl;lk; 
gFjp 1  

1.  
2.  
3.  
4.  
5.  
6.  
7.  
8.  
9.  
10.  
11.  
12.  
13.  

 
 

 

gFjp 2  

01. 

I. tzpfj;jpw;F Njitahd epjpapd; msit jPu;khdpf;f 

II. epjp rpf;fy;fisf; Fiwf;f 

III. Fwpg;gpl;l fhyj;jpd; Kbtpy;> tzpfj;jpd; ,yhgk;/el;lk; Kbit mwpa 

IV. ,yhgk;/el;lk NghJkhdjh vd;gij kjpg;gpLtjw;F  

 

2) 

I. njhopy; njhlq;Fk; Kd; nray;ghLfs; kw;Wk; nryTfs; 

II. nkhj;j KjyPl;L kjpg;gPL 

III. cj;Njr fhR cl;gha;r;ry; kw;Wk; ntspg;gha;r;ry; 

     1V tzpf ngWNgWfspd; KbT 

 

 

Kaw;rpahz;ikf;fy;tp 
myF uPjpahd kPl;ly; nrayl;il tpilfs; 

juk; 11 

 

05 
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3) 

I. re;ij Ma;tpw;fhd nryT 

II. ,lj;jpid mgptpUj;jp nra;tjw;fhd nryT 

III. %yg;nghUl;fs; kw;Wk; cgfuzq;fisj; NjLtjw;fhd nryTfs; 

IV. gjpT nra;tjw;fhd nryT 

V. njhlf;f ehs; nfhz;lhl;l nryTfs; 

4) 

I. epiyahd nrhj;Jf;fspd; kjpg;G 

II. njhopy; njhlq;Fk; Kd; nra;a Ntz;ba nryTfs; 

III. tzpf eltbf;iffis md;whlk; nfhz;L elhj;j Njitg;gLk; epjp. 

5) 

I. nrhj;Jf;fis nfhs;tdT nra;jy;; 

II. %yg;nghUl;fs; kw;Wk; tpahghu nghUl;fis nfhs;tdT nra;jy; 

III. fld; nfhLj;Njhh;fSf;F gzk; nrYj;Jjy; 

IV. nryTfs; nrYj;Jjy; 

V. tup nrYj;Jjy; 

VI. fld; jtiz nrYj;Jjy; kw;Wk; fld; tl;b nrYj;Jjy; 

 

6) cw;gj;jp fpuak; 

   %yg;nghUl;fs;>  

$yp>  

Vida Nke;jiy fpuaq;fs;; 

 

  cw;gj;jp my;yhj fpuak;; 

   tpw;gid kw;Wk; tpepNahf nryTfs;>  

epu;thf nryTfs;>  

epjp nryTfs; 

7)  

I. tYthd cWjpg;ghL  

  mu;g;gzpg;G 

  gilg;ghw;wy; 

  GJik>  

 

II. tsq;fs; fpilf;Fk; jd;ik (fl;blk;> %d;W rf;fu thfdk;) 
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   je;ijapd; mDgtk; 

   jha;top jpwd; 

 

III. &. 2 100 000 (fl;blk; &. 500 000 + %d;W rf;fu thfdk; &. 600 000 + czT 
gjg;gLj;Jk; cgfuzq;fs; 1 000 000) 

IV. &. 30 000 (kpd;rhuk; &. 15 000 + jz;zPu; &. 5 000 + gjpT &. 3 000 + jpl;lk; &. 7 000) 

V. &. 25 000 (jpdrup tzpf eltbf;iffs; &. 20>000 + jpdrup Copau; rk;gsk; &. 5>000) 

VI. &. 2 155 000 (epiyahd nrhj;Jfs; &. 2 100 000+ Kd; nryT &. 30 000+ njhopw;gL  

%yjdk; 25 000) 

 

8)  

I;. nkhj;j cw;gj;jp fpuak; 

                  &. 

%yg;nghUspd; tpiy  - cuk;       50 000 

- ghypj;jPd; igfs          5> 000; 

- cuq;fs;       35 000 

njhopyhsu; nryT   - gapw;rp       24 000  

- gapw;rp ngwhjtu;fs;     12 000 
- kw;w cw;gj;jp nryT     20 000 

                                                  146 000 

 

ii nkhj;j cw;gj;jp my;yhj nryT       &. 

tpw;gid kw;Wk; tpepNahf nryTfs;       3 000 

epjpr; nryTfs; (fld; tl;b)        3 000                                                                             

6 000 

iii Njwpa yhgk; = tpw;gid tUtha; - (nkhj;j cw;gj;jp nryT + nkhj;j jahupg;G my;yhj 
nryT) 

                            = &.250 000 - (&.146 000 + &.6000) 

                            = &. 98 000 

 


